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JE 4L EF4 H#T4F |OUT| IN [TOTAL

1 3% S FEM 37 38 75
2 HEHY HE— FEM 40 36 76
JEE =E et 43 36 79
4 TEH AKX etih] 40 39 79
5 MHF RE FEER 40 39 79
6 e BHZ inta 40 39 79
1EH E# krFm 40 39 79
8 X%k R FEH 39 40 79
9 FyA® 8k HFMm 38 41 79
10 85K IE—BER [EEEH 40 40 80
1MEH & INFHKH 39 4 80
12 Bk EE ™ 42 39 81
13 B FIxX £ Tl 42 39 81
14 {FE& IEF| ERT 41 40 81
15 X% TR i 40 41 81
16 A JIE— eti] 40 4 81
17 BX #ExX BHFH 43 39 82
18 #iK HE il 41 M 82
19 HE &= FNdam™ 40 42 82
20 ki FEB NN ] 44 39 83
21 Hef #®= ndsi i) 44 39 83
22 FrE B2 ES R o] 42 M 83
208 = evigisl 37 46 83
24 1k /1T MR 48 36 84
25 INE 1£8A WgHH 45 39 84
26 5H & mlR™ 44 40 84
2] 21 RiE WEM 42 42 84
28 BEH )i fsET 42 42 84
29 thHE FIk o™ 41 43 84
30 BF #WXK infE™ 39 45 84
31 B & FEH 43 42 85
2 B FESH etii] 42 43 85
BEE B2 FEH 42 43 85
M EH EX FlFE™ 41 44 85
3B KE & MR 45 41 86
36 FHfE 1EHZ2 FEM 43 43 86
37 /hNE & BEHH 42 44 86
38 &l X etii] 46 41 87
39 ki H izl 46 41 87
40 ZER IEF A 45 42 87
41 s IE izl 44 43 87
2 5H & ka™ 43 45 88
43 218 RB INFHR™ 40 48 88
44 fRER 2 fafE™ 45 44 89
45 A1 BHME XKET 50 40 90
46 JEER 1EX Ml 49 4 90
47 BE FH EE™ 47 43 90
48 EF &M ES R o] 46 45 91
49 4B IEE /N =] 45 46 91
50 LA #Fth ¥FHE™ 52 41 93
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51 45# Tt am 50 43 93
52 Zix &IE etih] 47 46 93
53 B HX et 44 49 93
54 AR = KR 51 43 94
55 shith EZBER  fiET™ 50 45 95
56 F8 X FEH 50 47 97
57 A B FEM 48 51 99
58 AYE BAIKX ENA& AR 53 49 102
ZIEHE AE MR 0 O 0

RE & Xi& FEH
REAE &RE FEM
RELE A =HEWH

2/4




